Circular Motion

Angular Velocity Let O be the centre of a circle, radius r units.

If the point moves from Ato P in timet, where
ZAOP = 4,then the angular velocity, o, of the

point is defined as the rate of change of 8 with
respect to time.
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Linear Velocity (Tangential Velocity)

The linear velocity, v, of the point at every position on its path is
tangential to the circle.

Let arc AP =X
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Period
T = 2n (time taken for one revolution)
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e.g. A satellite moves in a circular orbit of 20 rev/day

a) Describe w In rad/s
@ = 20x 27 rad/day
20x 27
ad/s

= I
24 x60x60

- rad/s
2160




b) Find the satellite's tangential velocity, given that its radius is 9000km,

In km/h
V=Trw

T

= 9000 x km/s
2160

—9000x "~
2160

x 60x 60km/h
=150007km/h
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